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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
) e RE
= 1 38, 673, 349
KA - 0] T
= 1 201, 371
AR T
= 1 201, 371
BRARERTIS QEIESE)
= 1 201, 371
BRE T
= 1 22, 196, 336
PR BR AL
= 1 21, 320, 410
SN
(i fa e =)
m2 336, 000 5.38 1, 807, 680
SN
Ua#=0
m2 136, 000 31. 57 4, 293, 520
R
(O\))
m2 473, 000 16.14 7, 634, 220
kD)
m2 137, 000 2.61 357, 570
FEA - o)
m2 473, 000 10. 05 4, 753, 650
TR (BEBHBRED)
Ck71h)
m2 246, 000 4.99 1,227, 540
TEH (BEBHBRED)
(REEBAT)
m2 227, 000 5. 49 1, 246, 230
4 LR bR
= 1 875, 926
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
SN
(A)
m2 10, 800 65. 96 712, 368
SN
(B)
m2 1, 100 83.93 92, 323
TE
= 15 4,749 71, 235
LERhARAE T
= 1 478, 495
CERAT
GEBE=E)D
= 1 40, 385
PR PRAR AL BRI A
m2 500 80. 77 40, 385
RARBRAR T
GEBESE)D
= 1 438, 110
A M (EE) AR (kL)
m2 400 198.7 79, 480
AN () %)
m2 400 275.6 110, 240
PR T 1S
(A TES)
m2 400 52. 94 21,176
PR T 1S
(AT =)
m2 400 31.41 12, 564
W5y
(A (B -3E-54))
m3 10 4,084 40, 840
W5y
(A (R 85))
m3 10 4,084 40, 840
W5y
(e (B -3E-54))
m3 10 5, 699 56, 990
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm #H TE (B ESM)
W5y
(A (AR 85))
m3 10 7,598 75, 980
Ef L
= 1 2,195, 678
BESRALER T
GEBE=E)D
= 1 2,044, 518
HTE BB LB
m2 473, 000 4 1, 892, 000
HEFSRE SRS (N J7408E)
m3 4 7,735 30, 940
W5y
(RHD)
m3 1 7,598 7,598
W5y
(Vi BEIEY)
m3 4 28, 495 113, 980
JERO TSR L CEFR Y B)
= 1 151, 160
R EE R g - A7) HIE BRI
m2 2,000 8.45 16, 900
SRR (NJ7) piiy
m 100 379.6 37, 960
SRR (NJ7) & 3 E VM)
m 100 963 96, 300
TRE R L
= 1 323, 400
P
= 1 323, 400
HERE TR
m3 1, 000 211.8 211, 800
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HoOflf =%

THEXy « T - FER - 5 Mo % LFENAL B G EHAm & T2 (BB
gt s AT oaLEE
= 1 111, 600
T )11 B e % T2
= 1 1,321, 120
TA77 M EEA &
€PN )
= 1 1,321, 120
N & FLE)T9vTy RC-30 41 10 JE 100
mm
(%)
m2 400 918.8 367, 520
E3E] BRI T AT (13) 4 40m
m L 4mAds (U840 Ry
JZ50mmEL )
m2 400 2,384 953, 600
p0E B R T
= 1 1, 938, 645
REEHIE T
= 1 196, 980
NN WEMAY FAI7yve-77 RC-30
49mmPA L 55mmA
m2 600 328.3 196, 980
TA77 v MEREER &
CEWRYb)
= 1 1, 546, 765
N & FLE)T9vTy RC-40 £ 10 JE 150
mm
(&)
m2 550 812.3 446, 765
E3E] FAEBRI T AT (20) A3 50m
m 1.4mPL E3. OmPL T
m2 550 2,000 1, 100, 000
[ A T
= 1 194, 900
HRYE (REIT) B 1A Mg 1.1m i dhsA
(A)
m 20 9, 745 194, 900
e
= 1 1, 307, 280
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm #H TE (B ESM)
¥ N EL RS T
= 1 1, 307, 280
Ju=7 /N AN TR
] 120 10, 894 1, 307, 280
NSV UEL N
= 1 6, 959, 735
JRBSLERERE T
GEBE=E)D
= 1 4, 858, 930
IYSY(E=S
= 1 4, 858, 930
JRBSLERERE T
CEWRY L)
= 1 1, 598, 422
IYSY(E=S
= 1 1, 598, 422
KBE*ESR L (BRI
= 1 502, 383
IR BAREA B AR
= 1 502, 383
BEBE T
= 1 401, 545
LT FT HERE T (F &4 HAT)
GEBESE)D
= 1 401, 545
SN ERE 0.8mlL E1. 0mPL T 18-8-40 (7))
03-SRG-07
m3 2 79, 760 159, 520
ek Im% 8 % 2moA 18-8-40 (%)
03-SRG-11
m3 5 48, 405 242, 025
G an
= 1 1, 349, 744
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
THHER T
= 1 32, 234
- 8F - B T
= 1 448, 811
ARmE T
= 1 868, 699
B TR
= 1 38, 673, 349
I L
= 1 3,551, 666
HIBGERE
= 1 514, 947
TR
= 1 44, 764
IERA TR
= 1 44, 764
BIGREsET (K3
= 1 470, 183
MR E (FEH L)
= 1 3,036, 719
Wi
= 1 42, 225,015
B
= 1 14, 503, 495
T AT
= 1 56, 728, 510
— R
= 1 10, 341, 490
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
TS
= 1 67, 070, 000
THEBLF Y %H
= 1 6, 707, 000
TH#EG
= 1 73,777, 000
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